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Chapter: Types of federalism  
 

 

Q.No Question Marks 

Multiple Choice Question 

Q.154 USA, Spain, Switzerland, Australia 
 

When Santosh was asked to pick the odd one out of the above four countries, 

he picked Spain, which is the correct answer. 

 

What could be the reason for this? 

 
A. It is a "holding together" federation. 

B. It is the only country that has a federal government. 

C. It is the only country that does not account for regional diversity. 

D. All the states in Spain have equal power and can rule above the central 

government. 

1 

  

 

 
This is a cartoon titled, "States plead more  powers". Answer the following 

questions with respect to this cartoon. 

 

Q.155 When Sunil looked at this cartoon, he said that this could not happen in the USA. 

Why did he say this? 

 

A. There are more individual states in the USA than in India. 

B. The central government holds absolute authority over the entire country. 

C. The individual states in the USA can make their own laws, unlike in India. 

1 
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 D. The central government in the USA does not hold more power than the 

individual states. 

 

 

 

Answer Key& Marking Scheme 
 

 

Q.No Answers Marks 

Q.154 A. It is a "holding together" federation. 1 

Q.155 D. The central government in the USA does not hold more power than the 

individual states. 

Correct Answer Explanation: 

Even though the USA is a federation, all states have equal power and are not 

governed by the central government. Hence, option 4 is the correct reason for 

this difference in Indian and American politics. 

1 


